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(T: . f) z 27 2) 2% ZAF 1%} ZAF My
714 a7t = =
AFZH17§/300~3509) 2,076 2,059 17 0.84%
Hij (17/650~700g) 3,386 3,198 188 5.88%
=2 (1kg) 3,980 3,135 845 26.95%
2 (17H/1kg) 1,074 1,084 10 -0.92%
Hij 2= (1% 7|/3kg) 2,311 2,613 302 -11.56%
HF(1kg) 5,708 5,323 385 7.23%
CH 2= (1kg) 13,272 12,796 476 3.72%
) K| 07| (2 AH/AFA AH/6009) 10,188 10,008 180 1.80%
) K| 07| (2 At/ZH| B 2 /60009) 7,746 7,124 622 8.73%
Ck 1 7|(10F2|/1kg) 6,518 6,478 40 0.62%
A0 7| (2 AH/EA/6009) 58,080 53,748 4,332 8.06%
A D 7|(ZAH/LE4AH/6009) 26,700 25,848 852 3.30%
EAALD A 07| (5= A/ S41/60009) 20,980 20,880 100 0.48%
265 =) CHZH1m/E2H/307)) 4,255 4,299 44 -1.02%
Z 7|02 /2220 Ly Q) 1,807 1,642 165 10.05%
Z X (10F2|/=4H/80cmL| 2]) 6,070 7,033 963 -13.70%
nEofLaotz|/=2AH30amLy Q) 2,410 2,355 55 2.34%
HE{(1O2|/2{ A| OFAHA0m LI Q) 3,537 3,551 14 -0.40%
MCHLOt2| /2 AH/28cmL} Q) 3,435 4,054 619 -15.27%
0| O (102| /= AH/40cm Ly Q|) 8,971 9,440 469 -4.96%
QFEf(1Ot2|/= AH/40cmL Q|) 8,333 8,333 : 0.00%
B 0 (10F2| /2 AH/23cmLf Q) 5,840 6,060 220 -3.63%
JLXEOf(10OF2| /= AH20cm Uy Q) 4,340 4,640 300 -6.47%
Xt= (102 | /=2 AH/30cmLy Q) 23,450 30,000 6,550 -21.83%
5= @ =l of(1a}2|/=At/30cm) 3,918 3,992 74 -1.86%
Xt 10 8HZ2 A/1kg) 7,133 6,943 190 2.74%
MH(20Kkg) 53,149 52,349 800 1.53%
QFII}(1kg) 1,694 1,780 86 -4.83%
7H0HS (1kg) 8,682 8,202 480 5.85%
TZ=TE (2 AH1kg) 32,995 32,629 366 1.12%
(= A/1kg) 14,138 13,200 938 7.10%
0l 71 2(& 2 2 /3kg) 3,650 3,785 135 -3.57%
= 2H(12/300g/4=Q A/ 2K E) 1,037 1,028 9 0.88%
1°5 ;Z A9 (18L/27|2) 5,533 5,291 242 4.57%
AZ=(1Y 350me/A D)) 1,252 1,252 : 0.00%
OHZ=(18 500me/A04A) 1,461 1,461 - 0.00%
A (1Y 350me/ 2 Al) 4,000 4,000 Hs
OHZ= (1 500me/2|Al) 4,000 4,000 H3
3|29 (1L) 1,340 1,346 6 -0.45%
Z42(1L) 1,237 1,240 3 -0.24%
=S92(1L) 943 - 0.00%
T K| ZHH| (L9152 /=2 LY A/ Q] AD 12,000 12,000 =
== AtZ4 AN O /LY AL/ Q| Al 12,000 12,000 =]
[TR4ES]
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d 38 435 JIFZAH2AN Z1

- = = HHSEE : Q)
AFF(17/300~350q9) 2,500 1,800 3,000 1,750 1,730 1,720 1,980 2,130 2 11/860 | A~1}1/1,150
HH (171/650~7009) 4,000 3,000 5,000 2,500 4,000 2,580 3,250 2,830 3,300 3,400
=2 (1kg) 3,000 3,500 2,000 6,600 3,900 3,300 3,360 6,000 4,630 3,510
2(171/1kg) 1,000 900 1,000 1,280 1,280 1,280 700 1,300 300 1,200
Hi == (1% 7|/3kQ) 1,700 3,800 2,500 1,450 2,480 2,480 2,300 2,400 2,500 1,500
3r(1kg) 5,000 6,000 5,000 5,600 5,750 | 77t¥t/37,400 | 7tEt/24,000 | 7tEE/17,000 e 6,900
CH==(1kQ) 10,000 12,000 12,500 3,900 11,230 15,960 9,500 18,000 15,630 19,000
ENK| 27| (= 4/ a4 4/6009) 10,800 10,800 9,900 10,080 10,140 13,140 7,680 9,600 10,200 9,540
T X| 27| (= 4t/ & H| A8 /6009) 7,800 6,600 6,500 10,680 9,600 12,600 4,680 6,000 7,800 5,200
CF7((10f2|/1kg) 6,500 6,200 6,500 6,580 7,900 6,900 0,500 6,500 5,800 5,800
2|0 7|(=4/S4/6009) 54,000 438,000 57,000 70,800 51,600 64,800 76,800 63,000 438,000 46,300
27| (= Ar/F=4/6009) 27,000 21,000 18,000 40,200 26,400 26,400 25,200 30,000 24,000 28,800
=2 2| 07| (=] 4H/S /6009 12,000 15,000 NS 31,680 N= 37,200 18,000 12,000 NS NS
1685 chHZ2k1ut/E2H/3070) 4,500 3,500 3,500 4,990 5,980 5,780 3,450 2,700 4,400 3,750
27|@aore|/=24AH/20am L 2)) 1,700 1,300 1,000 1,580 2,200 2,200 960 2,000 4,000 1,130
ZX|(10r2]/=4H/80cmLi <) 5,500 6,000 5,000 3,300 6,500 6,500 3,000 10,000 4,000 5,900
150{(A0r2[/=4H/30m Ly 2|) 2,000 2,500 3,000 1,700 2,400 2,300 3,000 1,700 2,500 3,000
HELOF2| /2 A|OFALH/A0cm LY 2]) 3,300 3,500 3,000 4,980 2,980 A= 4,500 2,500 e e
A CH@AOfE| /= AH/28cmLi 2|) 4,100 3,500 3,000 o= e A= | =2414/1,870 e 3,140 NS
010{(10f2| /=2 AH/40cmL} 2|) 10,000 3,000 10,000 NS NS NS 12,000 7,000 7,000 3,800
EN(LOrE]/=r£t/40cmLi 2) 10,000 BATT 10,000 BATT BATT = AT A 5,000 BATT
Ho{(A0t2|/=2AH/23cmL| Q) 5,000 | 20cm/2,500 /7,500 | 17¢cm/1,980 | 20cm/2,500 | 20cm/2,500 e 6,000 3,900 6,800
JEArO[A 02| /=2 AH/20cm Ly 2]) 5,000 3,500 5,000 4,280 N2 3,800 6,800 N2 2,000 N2
=00re|/=4H/30cmLU 2]) 30,000 e = 9= N2 AlFot=l 40,000 9,000 A= 14,800
ol = A o{10t2|/=2AH/30cm) 2,500 4,000 5,000 3,980 3,500 3,500 4,200 5,000 4,000 3,500
£t 10 8K (= 4AH/1kg) 6,000 6,000 4,000 9,000 9,800 11,330 5,900 6,800 6,500 6,000
MF(20kg) 59,000 53,000 54,000 51,990 54,000 53,000 49,500 57,000 50,000 50,000
QF1f(1kg) 2,000 2,000 1,200 1,100 1,660 1,400 1,380 2,500 1,700 2,000
7t0F=(1kg) /7,000 3,000 /7,000 7,980 9,340 10,500 7,900 7,800 12,500 3,800
D=THE(=4H/1kg) 30,000 30,000 33,000 29,800 29,900 29,900 39,600 27,450 40,300 40,000
AN T (== A/1kQ) 18,750 | &=+44/10,000 18,750 10,960 11,200 11,200 14,240 | 5=+4t/9,500 13,000 15,000
O==) Q7= (=4 &2/3kg) 3,900 4,000 4,500 4,100 3,540 4,710 3,500 3,500 3,350 1,400
FE2(12/300g/= A/ SN &) 1,000 1,000 1,500 980 1,000 1,000 1,000 950 950 990
A2 (18L/E7|5) 4,900 6,300 4,500 6,480 6,950 6,950 3,900 3,300 4,600 6,950
23(19 350me/A-0f &) 1,400 1,260 1,250 1,180 1,190 1,190 1,300 1,250 1,250 1,250
Oi=~(19 500me/A~0fA) 1,700 1,430 1,450 1,410 1,460 1,460 1,450 1,400 1,450 1,400

QA A| :2019. 1. 24.(2)
e 10T SAS 3, HF0E 3, AXMOIE 2, E25FE 2)
g 27I2LEHAR X 2 A




